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QUESTION 1

A customer has identified a performance bottleneck with Online Transaction Processing (OLTP) production host LUNSs.
The performance improvement plan includes a change to the Hitachi Dynamic Link Manager load balancing algorithm
which is currently set to Round Robin. Which setting should the customer use?

A. Least I/O

B. Least block

C. Extended Round Robin

D. Extended Least block

Correct Answer: A

QUESTION 2

A customer has concerns about high availability and single-point failure for their VSP environment and they are planning
to implement a multi-pathing software. Which two Hitachi Dynamic Link Manager (HDLM) features will assist this
customer? (Choose two.)

A. HDLM automatically redirects 1/O operations to alternate paths if a failure occurs.

B. The HDLM server monitors the client hosts\\' multi-pathing agents and redirects I/Os to an available path if a path
failure occurs.

C. HDLM collects path error information and preventively sets a path offline if the error threshold is exceeded.
D. When a failed path becomes available, HDLM places the recovered path back online.

Correct Answer: AD

QUESTION 3

Which two statements regarding the Hitachi Dynamic Link Manager Round Robin algorithms are true? (Choose two.)
A. The Round Robin algorithm distributes I/Os by alternating requests across two data paths.

B. The Round Robin algorithm distributes 1/0s by alternating requests across all available data paths.

C. The Extended Round Robin algorithm distributes 1/Os to paths depending on whether the I/O involves sequential or
random access.

D. The Extended Round Robin algorithm distributes sequential 1/Os to a set of paths and random I/Os to another set of
paths.

Correct Answer: BC
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QUESTION 4

A user reports that a host running Hitachi Dynamic Link Manager (HDLM) has lost a number of paths to the LUNs it is
using. The host still has access to all the LUNs. When troubleshooting, what should you do?

A. Set all paths offline and then online again.

B. Check the output of the "dInkmgr view" command in HDLM.
C. Reboot the host.

D. Execute the "dinkmgr online" command in HDLM.

Correct Answer: B

QUESTION 5

You are installing Hitachi Device Manager (HDvM). During the installation, the database backup procedure failed and
the installation was interrupted. What should you verify?

A. If the HIRDB is corrupt.

B. If the HDvM Backup service is running.

C. If the installation media is corrupt.

D. If there is enough disk space on the backup destination.

Correct Answer: D

QUESTION 6

Your customer complains that they cannot display host information for a certain host within Hitachi Global Link Manager
(HGLM). Other hosts are accessible. What should you verify?

A. the customer\\'s access permissions

B. the HGLM license capacity

C. the status of the Common Component service
D. the disk space on the HGLM server

Correct Answer: A

QUESTION 7

From the Mobility tab of the Hitachi Command Suite (HCS), which two operations would you perform to optimize
placement of data within a Hitachi Dynamic Tiering (HDT) environment? (Choose two.)

A. Create an HDT tiering policy.
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B. Edit Tier Relocation of HDT volumes.
C. Expand HDT volumes.
D. Start manual monitoring of HDT pools.

Correct Answer: BD

QUESTION 8

A storage manager needs to add a new server to the Hitachi Device Manager (HDvM) database. As an alternative to
running a host scan, which two actions are available to discover and identify the new server? (Choose two.)

A. Use the Host Data Collector.

B. Install HDvM Agent on the host.

C. Execute the AddNewHost CLI command.
D. Run the Import Hosts utility.

Correct Answer:. AB

QUESTION 9

A VSP customer wants to purchase File and Content Services (FCS) appliances from HDS and would like to use their
Hitachi Command Suite software to manage them. For which two FCS product families will they be able to launch
management software using Hitachi Device Manager? (Choose two.)

A. Hitachi Data Ingestor

B. Hitachi Data Discovery for Microsoft SharePoint

C. Hitachi NAS platforms

D. Hitachi IT Operations Analyzer

Correct Answer: AC

QUESTION 10

Which two operations would you perform on a VSP using the Element Manager feature of Hitachi Device Manager?
(Choose two.)

A. Create a system disk.
B. Generate storage utilization reports for groups of storage systems.
C. View the configuration of a storage system.

D. Update a storage system microcode.
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Correct Answer: AC

QUESTION 11

You are about to restore the HIRDB database on a Hitachi Command Suite (HCS) Windows server. But first, you must
stop the HCS services. How is this accomplished?

A. Use the Windows service panel from Computer Manager.
B. Use the HCS GULI.

C. Use the hcmdssrv command.

D. Use the hcmdsservices command.

Correct Answer: C

QUESTION 12

A storage administrator wants to provision storage from a VSP to a Windows 2008 host using Hitachi Device Manager
(HDvM). Which two tasks must be completed first? (Choose two.)

A. Create a host group for the host on the VSP.
B. Add the host to HDvM.

C. Add the storage system to HDvM.

D. Add the storage to a logical group in HDVM.

Correct Answer: BC

QUESTION 13

You want to group volumes together on a VSP storage system using LUSE. What is the maximum number of volumes
that would be grouped together?

A. 16
B. 32
C.36
D. 60

Correct Answer: C

QUESTION 14
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A customer would like to deploy Hitachi Global Link Manager (HGLM) to monitor for path errors on their SAN hosts
running Hitachi Dynamic Link Manager (HDLM). Which method is used by the host to alert the HGLM server?

A. SNMP
B. SMTP
C. SMS
D. SIM

Correct Answer: A

QUESTION 15

The storage administrator of a VSP must create an LDEV using Hitachi Device Manager. The VSP has already been
selected in the Subsystems screen. Which option is available from the General Task menu to perform this task?

A. Create LDEV

B. Create Volumes
C. Allocate Storage
D. Storage Navigator

Correct Answer: B
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